N & Ol & At & & A

A

20219 &= = 0llat LB & XA
2AM: A
N wESAAH (RIEAT)
¢ oE2AH (s (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
WA 21,274,846 24,548,280 A3,273,434
= 7,691,232
Al 5,600,131
- 7,983,483
HE2IAZH (s 47,741 87,183 N 39,442
EIH (s 9,853 40,085 A 30,232
eIyl (nss AL 9,853 40,085 230,232
101 124l 9,853 40,085 A 30,232
03 RIAHAZ 2R 9,853 40,085 A 30,232
OOtS S A Z2lAHSR2) 2 9,853
—N2eRRAY
10,7533 1.5+ 16 A1 2Hx 1« 128 3,097
—HssS= 10,7533 *8AI 2t 1H «10 861
— = Al 140,000 1 =122 1,680
— ZE S| 2,107,410 x60%* 1H »23| 2,529
- &2+ 2,107,410& »80%*1H 1,686
JleZul(nsesal) 37,888 47,098 A9,210
Jl2dgl(nssal) 37,888 47,098 29,210
201 L2l 15,238 15,808 A570
01 At 22l 15,238 15,808 A570
ORN2ELE=EH| 8,966,000& x95% 8,518
OJlege=dEZ20MAat 6,720
— LA 8,000& x13H «53| 128 6,240
— J|EHH 8,000 «1H x53| «12& 480
202 Odl 19,800 28,440 A 8,640
01 = LH o4 1l 19,800 1,440 18,360
OJI2gR==H=Z NI 150,000& 11H 128 19,800
203 YR =2t 2,850 2,850 0
04 EA2IYRFLH| 2,850 2,850 0
ORN2EYE=AHI 250, 0003 123 *95% 2,850
OtssX & 14,125,128 13,698,533 426,595
= 7,464,680
Al 5,243,824
- 1,416,624
OtS=XAE XA 4,410,040 3,849,640 560,400
= 527,645
Al 3,485,090
- 397,305
Ots=EXAIE XA 3,174,912 2,676,542 498,370
Al 3,128,005

T 46,907




SN DS
g ots=X s
& OsSEXALXE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 192 192 0
01 At 22l 192 192 0
OOSEXNAE NEEZE 1852 SE=
6,400& x303l 192
301 LEMZ 32,000 16,000 16,000
Al 32,000
01 MI2ZE 06z 32,000 16,000 16,000
OOS=XAE EA0s RNEHEZS XA
8,000,000& »4H 32,000
Al 32,000
307 gl2tol & 3,142,720 2,660,350 482,370
Al 3,096,005
- 46,715
10 AL SXAIEEE2EHEX 2,912,420 2,423,160 489,260
O0ts=XA4d 2HX2 2,894,195,000& 2,894,195
Al 2,894,195
OO0tsSXAE SALA SX&E= 10,025,000& 10,025
Al 10,025
OO0S=EXAIE SAA SA2HAH X
200,000& x41H 8,200
Al 8,200
11T M 2XALSE EX 230,300 237,190 A 6,890
OOs=EXAE 22088 XA
228,050,000 228,050
Al 181,335
- 46,715
OO0sS=XAILE Ots AZHAH K&
30,000& »75H 2,250
Al 2,250
2ES0ts O8E I (=34l) 178,326 172,500 5,826
= 71,330
Al 106,996
307 2201 A 178,326 172,500 5,826
= 71,330
Al 106,996
10 AL SXNAIEEE2EHEX 178,326 172,500 5,826
ORRESOs 088 25 89,163,000 «20H £ 178,326
= 71,330
Al 106,996
RES0ls JE8 22 64,780 48,300 16,480
Al 64,780
307 glz2+ol & 64,780 48,300 16,480
Al 64,780
10 AL SXAIEEE2EH EX 64,510 48,060 16,450
OZSHEINE(OEE) AL d32HHI
62,630,000 62,630




S DSSAD
¥ ols=2X B
& OsSEXALXE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 62,630
OZSHEINE(OEE) AN EXNE=
1,080,000 1,080
Al 1,080
OZTSHEINF(ABE) AKX AT
200,000& x4H 800
Al 800
11T M SXAIS EX 270 240 30
OZESMEIIF(QEE) OIS AL HFY|
30,000& x9H 270
Al 270
NEotsdlHe 298 K& 256,080 234,480 21,600
2 128,040
Al 64,020
- 64,020
307 glz2tol & 256,080 234,480 21,600
= 128,040
Al 64,020
- 64,020
10 AL SXAIEEE2EH EX 256,080 234,480 21,600
OXgotsd e 2948 XA 251,280,000& 251,280
2 125,640
Al 62,820
- 62,820
OXdotsdH SJI8F01 XN&  3,720,000& 3,720
= 1,860
Al 930
T 930
OSdtd ety gdol olgs 1,080,000& 1,080
= 540
Al 270
- 270
ANSEotsHEH 290 XA (AL, XHA) 242,945 177,577 65,368
Al 65,508
T 177,437
307 21201 A 242,945 177,577 65,368
Al 65,508
T 177,437
05 RIZt2IE = 109,800 109,800 0
OFg XNYotsHE X 109,800
— 78 O0XYots4dE  4,800,000& <12 57,600
— 78 HoXNA0tsMME  4,350,000& 123 52,200
10 ALl SXNAIEEE2EH EX 105,742 46,994 58,748
OXYotsdH SA&<0 XA 13,376
— JAFHIIXEO0t= 4 E 13,376,000& 13,376
OXY0tsdE AR =288 XA
90,141,000 90,141

_3_




S DSSAD
g ots=X s
& OsSEXALXE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 45,071
T 45,070
OXNYotsdH SAX 2XN&E=+ X
1,225,000 1,225
Al 1,225
OXSotsHH SAX SEAZF &l X
1,000, 000& 1,000
Al 1,000
11T MISXASEEX 27,403 20,783 6,620
OXgotsdE stsed KA 11,883,000& 11,883
Al 5,942
- 5,941
OXNSotsHE Tz A& 6,500,000 6,500
Al 3,250
T 3,250
OXgotsdH 0/E0ts d2HE HE K&
2,400,000 2,400
Al 2,400
OXSotsHlE 0I20ts OIAMEB X X O0tA3
A& 1,270,000& 1,270
Al 1,270
OXgotsdHd 2atdsgs XN
4,000,000& 4,000
Al 4,000
OXdotsHE “ 1220 #s" XA
1,350,000& 1,350
Al 1,350
ANE0tsdH JIsEZAH XI& 1,923 2,400 NATT
307 glz2tol & 1,923 2,400 ANATT
05 RIZHRIE 3 1,923 2,400 NATT
OFE XNY0tsdH JIsE2AgE XA
1,923,000 1,923
SdE NYotsdHe =& 3,648 3,648 0
= 1,824
Al 912
- 912
307 gl2tol & 3,648 3,648 0
= 1,824
Al 912
- 912
11T M SXAISE EX 3,648 3,648 0
OER2Y XNIotsdH FIXE
3,648,000 3,648
= 1,824
Al 912
- 912
Ots=X WA IHAXA 74,998 75,324 A 326
= 37,499




SN WS A
HEM: OlsSA &
e OIsSESXAIEXE (2 &HH)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
Al 18,750
- 18,749
101 Q121 H] 74,998 75,324 N\ 326
= 37,499
Al 18,750
- 18,749
04 JI2ZtHIZ2 2 NEE 74,998 75,324 N 326
O0ts =X WA &1 2Hd| 74,998,000 74,998
= 37,499
Al 18,750
- 18,749
FUHE Ol S MEIA XL (2H]) 353,325 301,247 52,078
= 282,660
Al 35,332
- 35,333
101 e1214| 151,860 118,000 33,860
= 121,488
Al 15,186
5 15,186
03 2INHAZ2ZXNHE = 31,760 0 31,760
OO0l S A Z2IAHZRR) o12H|
31,760,000 31,760
= 25,408
Al 3,176
- 3,176
04 J|12ZtHIZ22NEES 120,100 118,000 2,100
QOt=S et At 22l AFH(DI2EHI) el A HI
120,100,000 120,100
= 96,080
Al 12,010
- 12,010
201 et d| 147,330 156,447 A9, 117
= 117,864
Al 14,733
- 14,733
01 AFR 2t 2| bl 29,882 39, 193 N9,311
OEEAEE bt 2H| 20,000,000 20,000
= 16,000
Al 2,000
- 2,000
OEHAEE W= 2,570,000& 2,570
= 2,056
Al 257
- 257
OF=1=1:] 8,000 x5H x6. 5 x12& 3,120
= 2,496
Al 312
- 312




2N
X ZH -
L= B

el

= - 4 14
E - G2 (3H) - NRAY - BAES e HlnE2
ogxz(= 349,300& 128 4,192
= 3,354
Al 419
T 419
022329 6,948 6,750 198
OEgA 6,480,000 6,480
2 5,184
Al 648
T 648
OEEgAH 468,000& 468
= 374
Al 47
= 47
03 &At2 S 110,500 110,504 A4
OEgA 41,500,000& 41,500
= 33,200
Al 4,150
T 4,150
OSEAEE T2 2AMZ 69,000,000& 69,000
= 55,200
Al 6,900
T 6,900
202 (44l 6,540 7,500 A 960
2 5,232
Al 654
- 654
01 = LH 4 Hi 6,540 7,500 A 960
OEHAEE Atdll 22l E2Z 0]
10,0003 x5 «73| x12& 4,200
= 3,360
Al 420
- 420
OEgA S 2,340,000 2,340
2 1,872
Al 234
T 234
301 Lt 47,595 19,300 28,295
= 38,076
Al 4,759
- 4,760
01 A3 2 E 38,095 9,800 28,295
OotEga T8 X & 38,095,000& 38,095
= 30,476
Al 3,809
- 3,810
09 SAEHIX A S 9,500 9,500 0
OEYAERE & HX&3 9,500,000& 9,500
= 7,600




S DSSAD
g ots=X s
& OsSEXALXE (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 950
T 950
CEAEHE AME2Y(XHA) 51,238 71,293 A 20,055
101 @14 Hl 8,480 9,993 21,513
04 JIZHHZ2XNHEE S 8,480 9,993 A 1,513
OOt= S & Atell 2t 2l AH(DI2EHI) I 24 8] 8,480
— = Al 140,000 4« 123 6,720
—Qx=g 300,000 300
— FES0td| 500,000& 500
—JIE=E 960,000& 960
201 ¢et24] 16,700 6,800 9,900
01 At 2t 2l 3,000 4,800 A1,800
OEYAEE det>8H| 1,500, 000& 1,500
OEHARE gz 1,500, 000& 1,500
02 =224l 13,700 2,000 11,700
OEEAEE XMERAYI 500,000& 500
OEHARE 2383 6,600,000 6,600
OEYAEE AMARXYI 6,600,000& 6,600
202 044l 1,000 0 1,000
01 = LH o4 1l 1,000 0 1,000
OOt SR WA Atdll &2l &0
1,000, 000& 1,000
301 LBEXZ 15,058 44,500 N 29,442
01 MEIBEZE 05z 15,058 44,500 N29,442
OEEAHRE T2 XAH| 15,058, 000& 15,058
307 21201 A 10,000 10,000 0
01 =L =4l 10,000 10,000 0
OEHAEE 2zH S X& 10,000, 000& 10,000
HAHNE Ol SEMUAXNZ (OISESHYRAEAER) 7,865 27,500 A~ 19,635
= 6,292
Al 787
- 786
101 @14 Hl 7,865 27,500 A 19,635
= 6,292
Al 787
- 786
04 JIZHHZ22XREES 7,865 27,500 A 19,635
O0lsE2sdgRA 2t 7,865,000& 7,865
= 6,292
Al 787
- 786
HASE Ots=X X&E 1,312,088 1,106,938 205,150




SN WS A
¥ ols=2X B
H: MASES ots=X X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 214,035
Al 582,284
- 514,869
Z2A0ls =&KX 930,000 757,470 172,530
Al 465,000
- 465,000
301 et A= 930,000 757,470 172,530
Al 465,000
- 465,000
01 Al E & A 462 930,000 757,470 172,530
OZAlots sAXNE 930,000,000 930,000
Al 465,000
- 465,000
YAOISIHEN S (LLHIE XIF) 2,700 2,700 0
= 1,890
Al 810
307 QI2t0| ™ 2,700 2,700 0
= 1,890
Al 810
11T A EXAIEEX 2,700 2,700 0
glekHl & XI& 2,700,000& 2,700
= 1,890
Al 810
QIAOISIIEN A (LAOIES s XH) 91,800 64,800 27,000
= 64,260
Al 27,540
301 et M3 91,800 64,800 27,000
= 64,260
Al 27,540
01 Al E&E A %52 91,800 64,800 27,000
OgAots = & 91,800,000 91,800
= 64,260
Al 27,540
QIS IIEX K (HHolsYEEXZ2 ) 1,550 8,162 NG,612
= 1,085
Al 465
301 et A= 1,550 8,162 NG,612
= 1,085
Al 465
01 Al E & A 462 1,550 8,162 NG,612
O¥otsEEXRZE A& 1,550,000 1,550
= 1,085
Al 465
USOISIHEN A (LY =T 2K N R) 1,400 1,400 0
= 980
Al 420




S DSSAD
g ots=X s
S HASS OSSN X EERED
4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 1,400 1,400 0
= 980
Al 420
01 MEI2EZE 45z 1,400 1,400 0
Ogd=edizt 22X XA 1,400,000& 1,400
= 980
Al 420
AL IIERAEOS dellzg X& 2,200 0 2,200
= 1,540
Al 660
301 LEPEXF 2,200 0 2,200
= 1,540
Al 660
01 MEIBEE 053 2,200 0 2,200
OogY JIHER/AE0s &eXlg K&
2,200,000& 2,200
= 1,540
Al 660
Ots 2 & XI& A & 108,398 101,386 7,012
= 76,060
Al 16,169
T 16,169
301 LPEAZ 108,398 101,386 7,012
= 76,060
Al 16,169
T 16,169
01 MEIBEE 5= 108,398 101,386 7,012
ORESOs 22X& AX 108,398, 000& 108,398
= 76,060
Al 16,169
- 16,169
Ots2d 31929 2,800 2,800 0
201 Let24d] 2,800 2,800 0
01 At 22l 2,800 2,800 0
OOts=X 2& 319 #4&+2 70,000& 40H 2,800
A2EAHIE S A& 84,840 74,620 10,220
Al 53,940
- 30,900
301 LEHZ 84,840 74,620 10,220
Al 53,940
- 30,900
01 MI2EZE 406z 84,840 74,620 10,220
O2HAHIE & Jt¥AE 2=H N
57,600,000& 57,600
Al 40,320
T 17,280




SA: RS
M ots=A
@2 HASSE A X (&)
= - — L=
BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
& g NA 27,240
= 2,000,000& 2,000
Al 1,000
- 1,000
= 16,000, 000& 16,000
Al 8,000
- 8,000
2 =St 1,440,000 1,440
Al 720
- 720
7,800,000& 7,800
Al 3,900
- 3,900
JrERIE) MHExY XS 86,400 93,600 AT,200
= 69,120
Al 17,280
86,400 93,600 AT,200
= 69,120
Al 17,280
ol = 86,400 93,600 AT7,200
ZOts (A4, JIE<E) Mg X2
86,400,000& 86,400
= 69,120
Al 17,280
8,403,000 8,741,955 A 338,955
= 6,722,100
Al 1,176,450
T 504,450
sg 2 = 8,400,000 8,740,155 A 340,155
= 6,720,000
Al 1,176,000
T 504,000
8,400,000 8,740,155 A 340,155
= 6,720,000
Al 1,176,000
T 504,000
N 8,400,000 8,740,155 A340,155
=0z 8,400,000, 000& 8,400,000
= 6,720,000
Al 1,176,000
- 504,000
NXHASH X2 (0tS 42 2H|) 3,000 1,800 1,200
= 2,100
Al 450
- 450
ypre 3,000 1,800 1,200
= 2,100
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S DSSAD
Hu: HAH B8 L 2SS X8
chelr A HAW 84 Y 25 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 24,000 24,000 0
= 9,600
Al 7,200
- 7,200
04 DI2HHALAISE E X 24,000 24,000 0
O&FAaY HSg0te XA 24.,000,000& 24,000
= 9,600
Al 7,200
- 7,200
Fdadsotel A& 12,500 11,250 1,250
= 5,000
Al 1,250
T 6,250
307 21201 A 12,500 11,250 1,250
= 5,000
Al 1,250
T 6,250
02 YAFAAFEE 12,500 11,250 1,250
O&Ead 2=+=30tc| XN& 12,500, 000& 12,500
= 5,000
Al 1,250
T 6,250
NEHAEHHI? 2E(EAE H0HAYS) 2,800 2,800 0
= 1,400
Al 700
- 700
201 Let249] 1,800 1,800 0
=2 900
Al 450
- 450
03 A2 Z HI 1,800 1,800 0
O&FA~Y HWRAAS &3 XN 1,800,000& 1,800
= 900
Al 450
- 450
301 LeEA S 1,000 1,000 0
= 500
Al 250
T 250
09 HALAHIXI &3 1,000 1,000 0
OFad FWRAAS 32 & g5 N2
1,000, 000& 1,000
= 500
Al 250
T 250
FEad 25 2 moigd 3 15,870 16,530 A 660
Al 3,800




S DSSAD
g ¥34ad 54 & 258 &
Cel: AW HAE S8 L 25 CER-ED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 12,070
201 L2l 1,770 2,540 AT70
01 At 2t 2l 1,770 2,540 AT70
Ot DEAN XAEols M+
70,0003 x11H *13 770
OFAHE 25 Rolletd s 222 M
1,000, 000& 1,000
301 LEHZ 8,100 7,990 110
Al 3,800
- 4,300
12JEEd=S 8,100 7,990 110
OFAYE Foigd 4 2oz 500,000& 500
OASIEHZAE &S| 7,600,000 7,600
Al 3,800
- 3,800
307 gl2tol & 6,000 6,000 0
02 IZHE M AHE L 6,000 6,000 0
OrdsdEc8sMY X 6,000,000& 6,000
FAEHAEAY 29 196,468 181,548 14,920
Al 53,573
T 142,895
301 LEEAZ 1,820 483 1,337
0B M ERRIABHS 1,820 483 1,337
OMSI=223 243 1,820
— =AM 1,820,000& 1,820
307 glz2tol & 192,048 181,065 10,983
Al 53,573
- 138,475
05 RIZHRI & 3 192,048 181,065 10,983
OFAY dEAY 2EXA 107,146,000& 107,146
Al 53,573
T 53,573
Og&E=za 28 XN& 84,902,000& 84,902
405 XHoHF S HI 2,600 0 2,600
01 AL EZFH S 2,600 0 2,600
OLEESZFH 7¥ 1,300, 000& »2CH 2,600
Fagetdad 2= XA 180,940 96,800 84,140
= 90,470
Al 45,236
T 45,234
307 glz2+ol & 180,940 96,800 84,140
= 90,470
Al 45,236
T 45,234




S DSSAD
Hu: HAH B8 L 2SS X8
Cel: AA HAW BH Y ES EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
05 RIZHRI & 3 180,940 96,800 84,140
OFAHAY X X 97,470,000& 97,470
= 48,735
Al 24,368
- 24,367
OYESA BAUNNY 25 Xd
83,470,000 83,470
= 41,735
Al 20,868
- 20,867
St ZSSEAME X 15,000 15,000 0
307 21201 A 15,000 15,000 0
05 RIZt2IEt = 15,000 15,000 0
OSu=ZHM LAY XA 15,000, 000& 15,000
st §f ¥adE JI3EAMY 84,517 83,716 801
= 59,162
Al 12,678
- 12,677
307 21201 A 84,517 83,716 801
= 59,162
Al 12,678
- 12,677
05 BIZHRI & 3 84,517 83,716 801
Ot % a4 XNJAAZ 84,517,000& 84,517
= 59,162
Al 12,678
T 12,677
st 8 EAaY galdl K& 11,880 15,120 N 3,240
= 5,280
Al 3,300
T 3,300
307 glz2tol & 11,880 15,120 N 3,240
= 5,280
Al 3,300
T 3,300
05 RIZt2E = 11,880 15,120 A 3,240
Ostu 9% #2449 S4H N3 11,880,000& 11,880
= 5,280
Al 3,300
- 3,300
st g HAE XNJHE SMAL MMHLH K& 13,661 0 13,661
Al 2,350
- 11,311
307 21201 A 13,661 0 13,661
Al 2,350
- 11,311




2N
X ZH -
L= B
el

S8 AT
A9 84 2 P58 X
M EAE B4 L ES

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
05 RIZHRI & 3 13,661 0 13,661
Osth 8 FA4d XNJHAH SAMI MSIHLHI
| & 4,700,000& 4,700
Al 2,350
T 2,350
Osth 8 FA4d XNJHAH SMI MSIHLHI
|2 (2Hl) 8,961,000 8,961
dad SEXE 8,000 8,000 0
= 5,600
Al 1,200
- 1,200
301 LEMZ 8,000 8,000 0
= 5,600
Al 1,200
- 1,200
01 MEI2EZE 6= 8,000 8,000 0
OSEXNJUY Ead X 8,000,000& 8,000
= 5,600
Al 1,200
- 1,200
FA4E e Z20Y 29 59,840 59,320 520
~ 29,920
Al 14,960
T 14,960
307 21201 A 59,840 59,320 520
- 29,920
Al 14,960
T 14,960
05 RIZt2IEt = 59,840 59,320 520
O&FAYE SEA4 2208 29 29,920,000 29,920
= 14,960
Al 7,480
= 7,480
Ogz=s BAW SHA Z208 29
29,920,000& 29,920
- 14,960
Al 7,480
T 7,480
HAE AL (BHAMEE) 40,240 27,355 12,885
= 20,120
Al 10,060
- 10,060
301 LEd = 40,240 27,355 12,885
= 20,120
Al 10,060
- 10,060
01 MEI2EZE +5l= 40,240 27,355 12,885




S DSSAD
Hu: HAH B8 L 2SS X8
Cel: AA HAW BH Y ES EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFAYE AL XN (EH/AMES)
40,240,000 40,240
= 20,120
Al 10,060
T 10,060
HMstsT Al 24 79,960 343,050 A 263,090
HMsSIsTAl o2t #5 79,960 343,050 A 263,090
EMDE oDt RH 12,960 2,050 10,910
201 Let24dy] 12,960 2,050 10,910
01 At 22/l 12,960 2,050 10,910
Ogdsls 2= M 1,000& »1,000% 1,000
OBMWEES 3o &M
70,0003 x9H 23 1,260
OASAAS| 310 FA4Y 70,0008 *5 +23l 700
OHQHa EMNE T2 M
10,000, 000& 10,000
sdsts K3 AY 29 67,000 63,000 4,000
201 Let2d] 2,000 29,000 A 27,000
03 &AL2 I 2,000 2,000 0
O dBMsIsMAUs &It 2,000,000& 2,000
307 21201 A 38,000 34,000 4,000
02 SIZtE S ALHE L 38,000 24,000 14,000
OmMstizeszz Iy Xg
2,500,000 x84 J| 2 20,000
Ogdsrss0tel K& 1,000,000& «8JH & 8,000
OO0 XI & At 10,000,000 * 10 2 10,000
308 XtXIEHH SOl A 27,000 0 27,000
07 X HH2LESE S 27,000 0 27,000
OAMOIHAZ(2EolZ) g 45,0009 *600 27,000
SSUMEXNE & SXES 6,348,066 5,568,318 779,748
Al 200,000
- 6,148,066
2tgstuy KNEsd 5,569,811 4,827,798 742,013
sE=2 usEd =4 2,137,781 1,957,302 180,479
201 2et24d] 10,120 56,700 A 46,580
01 At 2teltl 8,620 35,700 A 27,080
OstwuwsIFHExX MG 29 700
— &A= 70,000 x5H »23] 700
OAZeD R4sH TEHZ KT
20,000 »38Y 760
OSth SOAY £7 U A2E 7
,000,000& 2,000
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S DESAD
B S DB U =NSE
Sl AZsn NASY CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZgsw -8 0l GE =82
,400& 503 320
OHgeXl == Uzl M= 4,840
— &MY 20,000& 200 4,000
— &Y 30,0002 28K 840
02 2324l 1,500 1,000 500
ORERS 1,500, 000& 1,500
203 & 2 =&l 950 950 0
03 AIF=XH R =AY 950 950 0
Ousia g2 =& 1,000,000& *95% 950
308 XXM SO0l A 2,126,711 1,842,652 284,059
08 WEII20HStE X 1,924,728 1,842,652 82,076
OozU 2238w WAL X
1,500,000, 000& 1,500,000
OugH 2ans X 224,728,000 224,728
Ogtw TAH2 HUAM XA 200,000, 000& 200,000
QA -7 WEHIELESH HIEFHES 201,983 0 201,983
O1nW AU 201,983,000 201,983
st SAH XI& 3,432,030 2,870,496 561,534
308 XXM SOIA 3,432,030 2,870,496 561,534
08 WFJ 20Ut = 3,432,030 2,870,496 561,534
OZERIE Radas4 XA 102,492,000& 102,492
OMESRIH 2434 XA 213,468,000& 213,468
Oxssu R2ads4 XA 1,115,832,000& 1,115,832
Ozstn RagA XA 743,663,000 743,663
ONEEW ZAZA X2 1,256,575,000& 1,256,575
SHUFSENUIN 2L 778,255 740,520 37,735
Al 200,000
- 578,255
NAAS DI Dt2nEs3sHES 748,000 714,000 34,000
Al 200,000
T 548,000
201 Let24E] 28,000 6,000 22,000
Al 10,000
T 18,000
01 At 22l 3,000 6,000 A 3,000
OUSHANURXNF ALY =& A2F 7Y
1,000, 000& 1,000
OuUsEsuX7 dult=d M 2,000,000 2,000
03 A2 Z Hl 25,000 0 25,000
Oltsun=sgsit 24 25,000,000& 25,000
Al 10,000




S DSSAD
HE: SDHINY L =X
S STNSHANTSY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 15,000
301 LEAZ 10,000 0 10,000
09 HALAHIX A S 10,000 0 10,000
Otlsnsegsit 24 10,000, 000& 10,000
307 21201 A 80,000 0 80,000
Al 55,000
T 25,000
02 QB AANGFEX 80,000 0 80,000
Os70t2sl wEI3sH XA
4,000,000 204 80,000
Al 55,000
- 25,000
308 XXM SOIA 630,000 708,000 AT78,000
Al 135,000
T 495,000
08 WHII20HStE X 630,000 708,000 A78,000
Ot usesid 192,000, 000& 192,000
O=70ts 47 AEY usid
286,000,000 286,000
Al 127,000
- 159,000
OstdzZstil=s0tel XI& 47,500,000& 47,500
Al 2,500
- 45,000
OFAaY XNIAtsl #Hsotel XI&
18,000,000 18,000
Al 3,000
- 15,000
O2t=dMELE N 62,500,000 62,500
Al 2,500
- 60,000
OXOtsAtY 2 XA 24,000,000& 24,000
EIsH 29 30,255 26,520 3,735
201 Let24El 23,640 15,000 8,640
01 At 22l 3,640 0 3,640
ONA DS AE S BHM2g
70,0003 x13F *23| 1,820
ONYDSAURAAS FH+Y
70,0003 »13H 23| 1,820
03 & At2 I 20,000 15,000 5,000
OusszsH I=2ds /38 10,000, 000& 10,000
Ous=ssH EE3 Ml 5,000,000& 5,000
OR=gAXF T N 5,000,000& 5,000
203 YR =&t 1,615 1,520 95
03 Al =AY R =& 1,615 1,520 95
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